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Unit 6 Genetics Study Guide:
Use this study guide to prepare for your Genetics Test
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4, What is independent asscrtment? Give an example,
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5. Whatis crossing over?
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Punnett Sguares:

Monohybrid Complete Dominance: _ _
1. In humans, the allele for albinism is recessive to the allele for normal skin pigmentation. Cross two heterozygote
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parents.
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a. What is the chance that a child of theirs will have normal skin pigmentation? 3/4{* 7{
e
h. What is the chance that a child of theirs will be albino? C#& ]/ﬁ_ Z.gp/d
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¢. M the child is normal, what is the chance that it will be a carrier!heterozygous) for the albino allele? 7?" 50/4..

2. In purple peopie eaters, one-horn is dominant and no-horn is recessive. Show the cross of a purple people eater
that is heterozygous for horns with a purple people eater that does not have horns. identify the genotypes and

phenotypes of their offspring., 1 ‘ : \
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3. Inhumans, the brown rown eye allele allele is dominant to the blue eye allele. If a homozygous dominant brown eyed male
crosses with a homozygous recessive female, what will be the genotypes and phenotypes of their offsprmg?
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DiHybrid Compléte Dominance: L ' ﬂa
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Incomplete Deminance:

palomino horse. W )Q :
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Co-Dominance /Multiple Alleles: C Y\&“Y\V?J( POI

In robins, singing lovely is dominant to singing biadly. Having a large?k is also domihant to a small beak. A
)
4. When breeding horses, white horses (WW) are bred with chestnut (BB) and they produce palomino horses BW
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5. A\jtype AB blood marries a woman with type B blood Her mother has type O blood. List the expected
phenotypesjof their children. ,

hetergzygous singin in that has a small beak is crossed with a heterozygous singing robin that is also heterozxgous
for beak size. What i IS the chance of havng)sEall beak/éood singing bird? L
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Identify the genotypes and phenotypes of the possible offspring when a_palomino horse is crossed with another
w@ wing BB BW VL
]u\nma \/Vh fl‘(/

Probability Practice:
7. What is the probability of each of the following sets of parents producmg the given genotypes in their offspring?

Parent Genotypes Offspring Genotypes Probability
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Sex-Linked:
8. Colorblindness is an X-linked disorder. If a female is a carrier for colorblindness crosses with a male that is

colorbllnd%%ieltohe ;O{nggemtypes ™ phenm@es 7 thELD‘Ch”dren? \ (Ja Y’ﬁt r ’FCWAM i(/
| | Ob female

| ol oy
i | ob b

The foliowing pedigree shows the relationship for 4 generations of people. The trait being followed is a genetic disorder

that leads to the inability to pay attention in science class {the zzz gene).
9. Is the inheritance pattern for the zzz gene dominant or recessive? Explain your reasoning.
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10. Use the capital letter "2" for the dominant allefe and L
lower case "z" for the recessive allele, determine what is . Z’Z. _ é é) ]
the genotype for mcll\ndua] 114, II 5and s 1?Justn‘y your m __'O__! Z
answer.
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11. How can you tell if the trait in a pedigree is sex linked?
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Karyotmes
L What|sa karyotype?

plofurt 0 Chyorirme
2.‘ How many autosomes do hurnans have?
99 pairs =
3. How many sex chromosomes do humans have? What are they for a male? What are tRfS? female?
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4. How many total chromosomes do humans have?
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5. .How can you tell if someone has a disorder or not with a karyotype?
oty 0F ks fhant 4y
. 6. What disorder is cause‘d‘.by trisomy or an extra 217
Down  Syndime

7. What disorder is caused by XXY?
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